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6.3.y
Checksum

Length: [4] bits

This field contains the validation bits for the compression buffer content: The checksum is calculated by the content of current compression buffer before the current packet is put into buffer. 


The checksum uses the tail 100 bytes of the compression buffer or the decompression buffer as the input, and the calculation procedure is as below:

(1) the input is truncated by 4 bits

(2) calculate the sum of each 4 bit value

(3) get the 4 rightmost (least significant) bits of the sum
(4) flip every bit, and then obtain the checksum value
